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Grade 9 Pre-AP Math
Unit 1 — Quiz 1: Vocabulary of Algebra

T KU | com |
v M Mo Yodifed woh M| Bl

Terminology (12 COM)
L Mati}?h term in the left column with the best definition or description in the right column.

;H_ Coefficient / 2ty < oleg ree Cg . Jr ] \
O! CornSTan e
L\/épression /B/ 1253 eqree 0 a i

Ts /Simplify ,Q/ A symbol, usually a letter, which represents an unknown or unspecified value.

5 Ae — /B/ Any mathematical calculation combining constants and/or variables using any
valid mathematical operations.

A egree-3 Term /E/ Perform calculations with the goal of obtaining a final numeric answer.

C ,6 able ﬂn algebraic expression in which each term consists of constants and/or variables
combined using enly multiplication (including powers of the variable).

F ‘gynomial /Q/ Expressions that agree for all possible values of the unknowns.
I Trinomial )al/ The constant part of a term.

I’Z Degree-0 Term /I/ A polynomial with exactly three terms.

L Equation /J/ Write a mathematical expression in a simpler form.

E Evaluate )/f erms that contain exactly the same variable part.
l i Equivalent L. A mathematical statement asserting that two expressions are equal.

Modified True/False (5 KU)

State whether each statement is frue or false. If false, change the underlined part to make the ‘yément true.
" answers

— 2 :
2. T/F S5xy and —7yx are unlike terms. ( 4 Change: _ 7/X\/ [wl” \/w/y
/

xy=yx
F\/( )f the aven teyms AhsSwtrf )
3. TIF 2a+5b is equivalent to 7ab.

il Change: 5Z +&0 wil ’ vary
4. T/F Z ” 6—2n means “six subtracted from double a number.” Change: Q n an é V(
‘)/ +imeg '/(
T/F f_ a as) can be interpreted as “two apples plus five apples.” Change: X A 1 5—01
\/.( 77/1{5 s a cunij[ay\\% “‘eym.
6. T/F _F:_ The degree of 2xyz+ 352 1 \(1)94 is géff.nce’ its degree jg =oro. hree !)/
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Multiple Choice (5 KU)

Identify the choice that best completes the statement or answers the question. Use the provided blank space to
write the l‘ey/corresponding to your choice./ becanse t—Ae re is on /y one
)

) .
y 0\ Which of the following terms € unlike —8wz’? Correst answer

(a) —4wz’ (b) —Z’w (¢) —8wz’ 8w3z

8. d Which expression is equivalent to 10p?
(a) Sp+35p (b) p+p+p+7p (© 12p-2p (d) JAll of the above

/ olllufs».‘am zg

9. C“ Which of the following is not a polynomial? )/ var | E les
2 2 312 2 555 s 2a3 / ] nD—t O‘HOV\’?A
(a) 7ab +§a b (b) 7ab” +4a’b 7ab” + 3 (d) ~7ab 1A Po\?momm

10. Q Which of the following is a polynomial?

Tab® +£a3b2 (b) 7ab* +4a’h’ (¢) Tgb>+ 2a° (d) b
3 3b? ~7ab’

11. b Which of the following is an algebraic representation of the phrase “one-third of a number?”’
1 el X 1 1
(a) Ir 5 (©) = (d) §+x

Fill in the Blanks (5 KU)

12. Complete the following statements: /

(a) “Evaluate an expression” means 7Def)9f m Ca /C(/{/mllbhg /IL(D 0/0%0' "V' a 761""’ numric ANSwCr.

; " a v (/
(b) “Simplify an expression” means wrl 7[9/ f}lex %Dmgﬂon In @ 9))’7),)7/&/ 7%)’34'\ .

(¢) When —-3(-3)-10(-3)(5)" is evaluated, the result is Fi7) q l/

= q - (-30)(15)

= q-(-150) = 794 4 B
(d) The expression 3ab’ —10ab® can be simplified because 7L€i" m . are } [ 'LVQ ;

(e) The expression 3ab—10ab’ cannot be simplified because 71/}!2/ 7@ mS arée Ynm / [ 7%6 /
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